556~

57O M EXKXFES

EXz= (HESAAV)

SR 184FFE (5557(0]) DU EIH X KEEH A RE KA,
TN RS2 BFALEL T U EAE DR - R K
KO R F28KFEDOB NI 6 H30H () 2257
H2H (H) FCHBEESNIL 72, (BB OTELEITI) B
FERNEIEAT E o )

CORE, MY EAE S 0] ) TR B B i S Tn
BHOD T AAE I, B BB e 24 HIZ 28K
FDOFA4,2004 K0V SINL TREEATRILITHNE
L7726

KA R 3 HE R R O B2 TR ST B AL 4D
ATEH OB A IEE R FL 7205, REL b2
BEREFRTTLIENTEIL 72, ERE TIIRER
FIEOBEEL T T HEBZ LTSN 72K Hidlr -
FAR DT CHIB LW A ERDEL 72,

RF DAL, BT OENIANL . e F-DERIIINL
TL 7z FEH B O R A S O FEHIN B 5 [ 4557 0] Y =] b
XKFRAERE RSRARER B JoLB)TT,

B RAEEIL BIEREFYFREL THMESNS
FETT,

EiE=F

32

BF0E LT DER
7w Yo | R RE Bk
7l | ok 7k
7K K

3

VINT = A i X

Rl .

INL—FK—)L A =
NIV .

PRI IN/RAR—)V
4 fir 3 £

(Bhn19 k%) (B2 KF)

INZyhR—=IL




TR 18 B (557H) ME K A

FRAREASRAEA

£

[ == I £ ST
(BF#E)
I 12345 6718 [of10]ii]i2][3]14]15]16]17]i8]19]20]21[22]23]24
@7}<EELEEE‘J/;(\"/‘"#5$/fiﬁﬂf\‘J%¢f§ﬁ")‘é\37
" A NI [ # s,
i wlwle| e 7| L s le| > w|x| [ [F]FEINC
hr BRI H | e | BT g | HE X O = +
o4, ﬁﬁﬂ?fﬁfﬁx)lb)blIﬂ?‘/iﬁiﬁ)b)biﬁhiﬁx}iiﬁl\)b
1 A il X o 3|4|1]|25]4 4|42 |4|4|a]|4]4|3 11211 55.5
2 i 1% X % 2|1 |1]25[ 1|4 |3 |31 (15 2|3 [3|1]1 4 113111 42
3 =) Fail X % 411|251 |1 (151 |4[15/3[1]|2]15 1 11 ]1]1]3]2 36
4 & i X ¥ 1211|1215/ 2]1]|1]|1]2]1]3]2 1 111 ]1)1]4 325
5 & g X % 1031 ]25/ 2|1 [1]|1]1 1111 1 1 1041 26.5
6 ®m B X ¥ kX % A1) 1 101|115 1 1 4 1 19.5
7 us) x =2l 101 31111 101 1)1 3 1 1 1 19
8 = M I B O Xx % 1 1 108111 101 1 1 1 3 17
9 m ¥ kR X % (AR 10111 1 1 1 1 17
10 B M B B X OF 1011 1 10113 111 ] 1 15
1 = A x % 1 13 4 9
12 B Hp a2 ) F K F 101 1 101 1 1 1 8
13 BEXERFEIHAZE 11 1 1 5
14 = M &= # X % 101 2
14 =M ERREH X F 1 1 2
14 FINRBIGRBER KXKZ 1 1 2
17 S A B BEE B KXP 1 1
17 ®mBE I ¥X®EHHKXKRP 1 1
17 wmF A B B X F 1 1
(ZFHE)
. 1 [2[3[4]5]6]7 9 (1011213 14[15]16[17]18]19
R 2 1 k i
Bi?k@‘//x\"/\"ﬁliiﬁll/\‘/%a*?'ﬁ')‘éﬂ
JIE I . BEIAE IE AR 8
Ko, #ﬁéiii;()lb)bii‘/iﬁiﬁ)b)biﬁbi‘éxiﬁf&b
1 I 1 X % 3|1 (32124 11 3 111 27
2 F % X o 2 101|151 |3|4]1|1]4 2 (IR EEERE 26.5
3 5 1 X ¥ 10341 |1]1[2]|1]1|15]2 1 111 245
4 = pail x % 113311 ][1]1]1 1 [BEEEEEEE 20
5 R T TFEHKXFE 4 4|4 3|3 18
6 wm B X B X 2 (AR EEEEN RN 1 4 1 16
7 & ] X % 1041 ]1 1011 1 1 1 101 15
8 Py x F 1l 101 1 1 1 14
9 m B ¥ KR X ¥ 1 1111 1|31 1 1 1 13
10 B M B F X #F 1021 101 1 15| 1 1 1 11.5
1 =2 M T F KX =F 11 15] 1 1 1 1 7.5
12 B A5 2 Y F K F 11 1 4 7
13 wmilRE X F KRR 4 1 5
14 a5 B OE # X % 10111 1 5
14 =AM RERESHXF 1 1 101 1 5
16 wF A & B x % 1011 3
16 BEXEBAFEHAZH 1 1 1 3
16 iR ERE B KXF 1 1 1 3
16 = M I B OXx % 1 1 1 3
20 S A B EE B KXRP 1 1
20 mEXFREHAKXFES 1 1
20 = A x 5 1 1

¥ ERICBVWTIBLLUADEFRESMAENEBL AR AT ZORRIZRDESY)
OfF B 4n B - 3R,E3M - 2R GUAEBARERNHEEIX1.5R), SMA - 1R
¥ FBIKZOMEEEDHRERBEIL,BFIL LTI, (—HEEEIR. BT ZF3M)

33






